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Identify that kinetic energy is a scalar quantity and is always positive or equal to zero
if the object is at rest.

Student Textbook 131

Identify other frequently used energy units such as the electron-volt (eV) and calorie
(Cal).

058 Ala (B acad) S 13 1 Jhia (g sbad ol A ga Ladla (5805 Apald dpaS (A 43S pal) A8 ) s

Student Textbook 131

4l Al Bmdl g il g8 ¢ 9 2SN Jha ) jSta JS Adadiiad) o AY) dBUal) cias g daa

Kinetic Energy a.s,4) 49Uad) 5.2

AS pd ) ABUAY L ay i) e pas &S, ddas,l) aBUal) say 23Ua)) e Jo¥) gsi)) Jsliiw
i e 3 e paas dliS i Flcaan 25,4 ablal) gl

(5.1) = %muz.
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oo Leslasg 1o (M/S+M/S) de ,ul) 1,0 § (KB) aliS) o jim £1 galas 25,40 23LJI ¥ |1l
oo lassl) Jsal) allaall 3 (old 5asg L) 0o 55 8 (g Jin duge 20eS 23U J2£ kg m?/s?
] baSes I N = 1kg my/s? obus ised] o lassll Joall pliasl) § 35301 3ass . (J) Jadot

Iiae Jogs
(5.2) 1]=1Nm=1kg m%s® :ailb sa>s

)5 1310 Kg LyalaS 5 ,Lea) 25,40 23UAN 315 . Jod) poes 8,0l 23LIAY) 0B ope G Lo 503 3o
55 mph (24.6 m/s) ac

K. =imy=

w=1 1(1310 kg)(24.6 m/s)” = 4.0x10° .
S, @A)l jlazes .3.0 X 104 M/S i s uaddd) Js> 5a35 6.0 X 1022 Kg s, ¥ alsS jlaze
3.50m/S ic s a5, 64.8kg wiliS jas i) 25,40 aslally 2.7 x 1033] 45,40 siys adas L)
(0142 kg = "jlosga,udl Jub oy b3yl 5" LalsS) Jsewwo 3,80 aS,4) adlally 397) La
&S,4) asla)) lawsie ile (gydd) gerwll sle 917 La 80 mph (35.8 m/S) ac s ol
JSad) § a5l plus ¥ o] &5,4 0 mblall ae3sed) slal) 55.6.1x 1077 T clagh o 54
cilal) 3,08 aabsaall allesll 3 @S Lad) lBUal) degams o alie¥) 0in o o 05 o) clSc 5.4
o Loy (Cal) Sl o)A el (V) cad 09 aSI¥ 5,45 doaswll A8lall colasg o (rag
:TNT (M) 55Ls oo
1eV =1.602x10 7]

1 Cal = 4186 |
1 Mt =4.18x10" |.



Show that the total kinetic energy of an object can be written as the sum of the

kinetic energies associated with the components of velocity in each direction Student Textbook 132
I{=%muz = %mu,% —i—%muf, + %mv_;,?.
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& (5.1 aslal)) &S, 4) adlal) Cay,en Jas cclS g S oS US 3 dgaal) de ;) ENR
.uzzux +uy +uz oSS

mv® =

(5.3) K= %m(vﬁ +v; + U§)= Imv; + Imo; + Lmo].
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Relate the work done by the gravitational force to the mass of the object and the
. : : - .- : } Student Textbook 135 ‘
4 | difference in height of the object between the initial point and the final point %
Example 5.2 136 L
(W=+ mgh) where h=|y — y,|. 4
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(W=+ mgh) where h=|y — y,|.
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Calculate graphically the work done on an object from an initial to a final position Student Textbook 139 ,
using a force versus position graph. Q. (6.78) 186 '&
=
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1+Part/= Apply Hook's Law ( F, = — k(x — x,), to calculate the spring force, the spring a
constant, or the displacement of the end of the spring knowing the Example 5.3 141 \ /
17 other two quantities. 8 Eg gg; :g; _
|_' * = : = . _ _ 1 2 . . 2l 33;40-"
Determine the change in potential energy due to spring force: W=Us ~ ks*. Q.(6.49) 184 -
2" Part/ Solve problems related to power

O AY) Gaaakl) 48 jra a5 3 Aglgs Aa3) o el i3 gl g o3l B8 el (Fo = — K(x — X,) g ¢y 58 3uka

W=Us == ks?. &3l 85 Cuu A0S ABUal) B ,a5l) aans
Spring Force & ,53d1 398 5.6 5_aalL ddlata Jilua Ja I‘_“,Jﬁ'd\ s jadl

bl alay s T s lis) of @30 saca) 20330 35200 o) o

Y 8 sas o3 (o, adse Jovasy Uadiaie ol 15 3% ¥ Cesw (@) l \ \ANAAA] - _ —
AL eSS ¢ oy (5.14) F == k(x= ).
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(5.13) E, =— k(X - %,).

i o baS e XaS 1 Laguns LS 1) @Y s oia asal) dlslee LS oS¢ aaLallS (8) & ol pnse & rasll ol 55d 514 JS2
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amced) (19S5 & cres X ] Xp cre Jand &,050) 858 alaulss Joded) Jaid) aed slowy

W, =fF5(x')dx‘=f(—kx')dx'=—kfx‘dx'.
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X
(5.16) Lﬂ=—kfx'dx'=—%kx2+%kx§.
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Recall that the unit of commercial energy in terms of watt is kWh Student Textbook 144 m

Y

o b gl Gua (e 4y jlail) ABal) Bas g o)) SXS i

kWh

3
8 jaalall LuA3 3S p0

Power a,aad! 5.7

ugS_mJl &u:g.a oo d.J_‘kJJ 1550 kg Lgu_l_nj ﬂ-JLn_u.l |_l‘,_-..._T ))L” ‘J_i_..u_” JI..LR_Q i_'ll_n.l.l_"h- "JH—"‘” UE"F Ln.nj.f

K= %mu =1(1550 kg)(26.8 m/s)2 =557 k],

) o)) 9 Loy Log 33U (il Lo 450 iy ¥ oS (o ot Lo PJ}]JIJJ_...JI‘,IML‘:\.:IU_Qg
‘_.;_uu_u_u Jase d8,as a5 Luldl .60 mph (26.8 m/s) ac )l ) 5 Lcd) s Jns o oS¢
i k) i o) oSc

W sl o)) aniiie o P ls sl ol lia e sl Jasd) JG JXas o 8 yad)

(5.18) p—dw
dr
o9 P a,un)) dagio sond LT ail) gag
(5.19) p—-W
- At

il ) W dasd) so; o Lald) sias] (W) dotgdly =ilas gl Sod) allacl) 3g 5 50nl) (sl
[(J—ILQ J:‘-: _b_"hu |_|.nj|.| L.s..\_”) W aJ..La_” ‘:""—""'3' Jle'B (‘_ﬁla J:n:-r.l

(5.20) 1W =1]/s =1kgm?/s’

a9Mall sda e usdy daslsd) aslid) 3 Lo ,ine asladl dalsd) Lins) gsluws aslsl) Jsd!) . puSel) Sleg
:(KWh) delw/ Jo! g gbuSd! )5 (5 00)) cewd) 1l a5l a8l dasgs

1 kwh = (1000 W)(3600 s) = 3.6 x10° | = 3.6 MJ.
Ldj)l.a.n_..u' F tJ"JI d.uLl_,.dS.” aalladl J!..\.ﬂ.a J..\ﬁ-g :anlls JLLHS ;L,,;SJ'! qubﬁ ‘JJ.L _k"Vh dd=>g J.d-la.'a
anllall O ).l.l_'l.lJI uj.f P.\ (a9 . Laallall &‘9.:' e Eg.'a L‘;I u.ul.a.a.l d.cL..u/.lalagJ..S.” dd=-g P‘m* uj.f

da by Lold 133y 557 kJ 5% 2)) .26.8 M/S ac o &), 1550 kgL@_._L.j .:.)L._H.J ¢.5,3.|

(557,000 J)(1 kWh/3.6X10° J) = 0.155 kWh.



Determine the instantaneous power by taking the dot product of the force vector and Student Textbook 147 %

an object’s velocity vector.

) A s Aia g 5 9Bl Aniial Jalll) G pall Juala 34T (51 sk e Adaall) § a8l paas i

Q. (5.52, 5.70) 152
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(5.22) p=dW _F.dr _g &_p osa

dt dt
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1%Part/ = Apply the equation (W=F-Ar=FArcosa) to calculate the work done on an
Object by a constant force by taking the dot product of the force vector F

and the displacement vector Ar.
> Recall that if the displacement is perpendicular to the force, the scalar

product of force and displacement is zero, and no work is done.
2"/ Part/ Apply the work-Kkinetic energy theorem to relate the work done by a force
and the resulting change in kinetic energy: (AK=K—Ko=W= [% mv2 — % mv?).

Q.(5.26/5.33)
Q.(5.22/5.60)

151
151/152

_

Laaxladll oly sgae

s;,_mml@n;.s,n

5 g z'-h.-.-.'ll_:h'l P '__l.'-mf ._]j."'_l--;'ll Jand) lad {I"V:F'ﬂT':FﬂTCﬂSH) 403l (el f’inﬂ[] ¢yl
A Al 3y 4t s F oo gill datal i) o pal] Jeala 24 (B e A48
5 sl da) Y158 gall ol o el Juals o8 o8 gl to A0 gao Aad 3Y) il 1Y) 4] S
Qe gl J8s 3 ¥ 5
ddacd) g3 Jgaall Jaadl Jay )1 48 Al KEM\JM\Z\%JBJ&#M/@J&\ s Jad)

:@ﬂ\ﬁw\@@m\ﬁiﬂb'&ﬁ

1 y 1
(AK=K—Ko=W= (7 mvZ — - muv?).




J.
l %

Laxladll oly sge

3
8 jaaiall L4430 3S 0




185k g 3935 ) aeslad) 5,10 3 ali ¥ ois Ll g e 5.22
$15.0 m/S ic s )5 1500 kg LpalsS 5 L) 25,4 23U L (@
SaS, A Lyzblls aed inw 2.58.30.0 m/s J) Lyme w5 ,Ludl o2 13) (b

12
\E

3
8 jaalall LuA3 3S p0




18.0 kg a:lsS poun 3 F= (4.79. —3.79.2.09) Nawls 555 53 5.33e
s Jasl) Jlex) Lo r=(4.25.3.69. —2.45) m i) )is i} 3 ey e
‘.‘SB.ZJI PR aJ..L.S

12
\E

3
8 jaalall LuA3 3S p0




Joiall Jatdl as i .asa ol£) § 12.0 M 250l 5.00 N sys 5 5.26 @
_

daaalaill 3l gy sgne

3
8 jaatall L1330 3S j0




Vo =105km/h (29.2 m/s)ic oo m = 1250 kg LgzlsS 5L s 5.60
AL 5Ll Caley¥ i rolSl) Gle oraty i) Ja i) (s

12
'\

3
8 jaalall LuA3 3S p0




{‘\% Laaalalll 3l gy sgre
o~ B
8 8 jaalall 430 3S 0

y
A
Up—r1+9——
Ay = yg — Ya 5
B
Ay, = ya — Yg
———Ua
A

Gnid szl mlpsie 6.4 IS5

allly Gaane ab ) dsl5¥l,

Student Textbook 157-159

ALY i goadlg MBS goad) 4 o
Conservattive and Nonconservattive Forces

056 Ja s J) Jlgad) 7 das ol cams B30me 353 (e A L) pns)) Wbl b (o 55 o Jud
Ld ¥ Bla¥) colS 5] Sa=¥ cdy § Lo solaawdl) pagl) B3l oljas) § (5ol elesl S szl
Jitl) asy Led LoSanll bide o o Jliaad) lia e alsdU Slpolasu) LuSc 2l sead) glal
ild) 353 Wl @ b e Basy Lo Lol aa) pad] L olE) GuSan Leaie 393 i i)
o M aslaS pus 28, aie Fpagall dis i) Jasdl jlans goluw 6.4 JS2J) 3 pnss 9o LS,
o Va S Vg el o awmn puad) JIp) aie Fpagall ais il Jasldl jlase Yg J) Yy gl
U” EhJJ LHF""-*"HJ"""""F dQJJIdJJ.uGJJIUJS." |J-"-“J| iu..qlu EJL:d:fIvleL'-"h]'

s golal dnad) oia Jids Jae goluy aws Goluwd) gls)¥) J) dsle] @ calise gl
(6.5a JsiJ) anl,) adasld) sgal)

et gt |

352)) oy J3ao lie jlue sl 3 L) Jadd) Jaid) Jlane 5s% 353 I o ARSI 540l
cadadlow e 3o b, ) lis o ¥ )



re Juin pus Gle alablon 393 Jam Joddd) Wiy ppam 1 (Jadd) Jlazs Lisle 13) .2
s W g 2 «Jadd) Jlane Layl elss Lafe B adaza) J) A adazd) e 1 5Ll
A alazd) e JasdU (2 5La)) o7 jlas o el Lonie pud) Lo Ly 353)) ais
853 alis gall Jasd) ole cgluce Jidd) Jlaze of Loy (6.5C JSad) aoly) B adazd) )
’ ’ k] a8l i) lad) le satay ¥ aladlo

(6.5) W

A-—B,path 2 = wAaB,paLh 1
(alasld) seall .25 1 cedlediall opsluald)

Jodall ozl (35S I agall Lol ole alasld) asal) ca,as e 8 k)l aia ld) Jgas LS
B g assall @ 1 ,Lal) @ B adaza) J) A ezl o jlall sy Jjae slio jlus f e L)
Wa_ppath 2+ We_apath 1= 0 ascd) 565 13 canlis aals> 2 )Lall 3 A )
Wa_apath 1= = aoad) 59558 L) sl&Y uSLall sLlE3 6.4 Uslal) pases ¥,
Wy ppam 2 = Wappam1= 0 sle dhass Lo gl osls ez - Wi parn 1
6.5 alslal) gii.‘; L.g.'-.ng

adams o &blea dxlys 55, 93l Lpale Llas o) dal )l @bl 285l clacdas)) o

b i die sgmge e of pasiad aslew)) ales Jio gos) ddam ) il Jie Ldieae
o JUL) 1ia qeisga) 6.5C JSadl olazw¥) baSe (J2) 23 @53 35330 a>lewdl ale> s
sally dnlail) amlud) whhlal) s dslowd) ales B aland) Ji8 > § cllje A ddazdd) Jus
vads ilead) ples J) J5d) (o adlag)] clizl)s sS) die aas Jidall jlane Jis bl adaslé)
ol ST Lds ol 13lasol LaSly el Bods cllus of clSc aSlas i)l godall e o
Jiddl 558wy By A ezl o doseds dsam e clany Ly cllas ol cliSc LS Yals
Al caadlyd) Ay plise po JU sa LS L o)) gass asxss 58 Jisly Jedud) LS)
clows of LS b)) WlSis) Gels of i lsg)) daslacs qulSel) clolasiuls ascll

] ] Yy
e

— B
U A/\/ﬁ:// Ukﬂﬁ u@/f

(a) (b) (c)

oeadgall WlaS ilablous 853 J) dewdl pingl ddla) dcgaze ollue 6.5 JSIJ
aale (8) XY ganall Lle sla¥) 2338 i gl cillalan) s sla¥) 28ls =Mial) Yo U il o s X
By A palaaidl b glalise ollas (€).B adazddl J) A adazd) e jlas (b) Laali,

ey ezl 1ia (o i ool jgal) Lle buSc .aladld) szl ) el
e alaz) old) g ol alablowe 393 Jan Jodedl Vg Jiddl jlaze Lole 13) .1
soad) i il Wp oy (Jisd) jlage Lay) plas Lols B adazdl J) A adazd) (po luse
A bzl J) B adazid) e cpuSLal) ol€Y) 3 ) e allan) obd] ead) le Ly
’ {6.5b Jsall axl))

o bl o Loy s aalal) aald) @ Jodd) Jasd) ded of oo 3,La)) oda wild) Sl
gi Jas goluw aald) o oSl S Jasd) oo .;m.naahkji:.fAuuBuuﬁ
‘O

WA—'B +WB—5A =U,



aslag) axlyad) aliSy lliS Jaw e Sad .aslegd) dxliudl s3kd (L) s aea) allsg gos

pae mealis Jo> 2a3 300 oy § JEL) Jis Hucluw of 0S¢ 63 B aba) J) A sl 5e

853 aladld) agall oY) ali¥) ey .aladld) agall ¥lie Lol Lyl LS .awild) 853 as
Salasld) 2 gonll b alaslos gonll JS coved 85 .03l

& (S %) 693
>

|
i Ar, = xp— X,
| ~
LS
XAl =

@ B ikadl JI A daml) e Gadl plaw Gle gsaie ¥l sie Gasy Led Sl
P pdadly Ggaall oo oS4 A Jolae ol palasl B aaad) ) assal)

X5 sasgll e Lale Llas 2 plid) pasac) aS A oY uSlall olEY) § ass

:r-i
I
|
|
|

Ar; =X, — Xg

A l3Y) amies HlSisY) 353 amie 0.6 S I

plas pe calk) Jly ale¥) J) ggane ads dnleal
] [, T _ 7 o S —

o Wy =feAr,==f (xg— x3)=— pumg - (x5 — X,).

Anl oISz Y) g3 ol ULy .oins ISis¥) 553 dlawlgs Jodidd) Jidd) jlang i8,al

353 0p ksl opiall Fb b Bede e Ais il JEA) lake sley) S

a1 3¥) Slgaiey SISV

|
|
|
|
IXg Lo Wslsy [ =N = mg e SlSa=Y) 353 Lle Juass Lols LS (6.6 Js2))
|
~ |
[ |
|

dalal) abal) pald) £b dies pasvs B adazdl J) A aaz) e 35,40 ) Gl

X jame olE) ) WISz ¥) 353 i 13 lallS L opod] Bl oot Comgll X jgms o) Liis 281 sal
sama olE] ) ISaa¥) 393 ks A dlaw) L,n 82521 8 B ddazll e 45,3.1 L,11 drwlly L

Wi, =f'£‘?2=f'(xﬂ — Xg) = Mg - (x4 — Xp).
doaeal) GY5) o] i) 553 adawls Jodel S Jiad) ol glica) J) dnd) sia bags
aS) e goluw ¥ A alaud) ) s39a)l @ B akazdl J) A aazd) ge alil) Hlal) plas e

ol

(6.6) Wi =Wy + W, = — 2img(xg — x,) < 0.

_

Araalalll ol sg20

8 jaalall LuA3 3S p0




J
lﬁ

Gaaalalll oly sgae

3
8 jaalall L4330 3 5




ag/.'

Laaztadt

dlg, sgae

8 jaaiall L33 3S 0




ag/.'

Laaztadt

dlg, sgae

8 jaaiall L33 3S 0




Calculate the work done by friction force for an object sliding across a horizontal
surface between two points: Wy=/-AX= — f~(x — x,)= — umg-(x — x,)

Student Book

Concept Check 6.1 159
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Apply the law of conservation of mechanical energy for an isolated system (no MCQ. 6.2 182
10 | external forces) with no dissipative forces involved, to calculate different physical Conceptual e 23
.. . 183 W
quantities. Questions 6.18 —
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'9 Calculate the change in gravitational potential energy of a mass as:

AU, =U,(y) — Uy(yo) = mg (y — ¥,) =mgh Q.(6.18) 183
18 | = Define mechanical energy as the sum of kinetic energy and potential energy Q.(6.41) 184
(E=K +U). Q.(6.76) 186

'+ Solve problems related to conservation of mechanical energy.
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p2 Student Book 190

Relate momentum to kinetic energy K=—

2m Exercises Q./7.25 217

IS ) ABUally o 1) day

4S y3u) dugS iy yad
agoal) i pu § pead) 2SS O Bl ol 4S5 pde) ZegS 234 cebisall 3
(7.1 p=mu.

l® 300S 3 g pnag D dgomil) de pully aidad) 35,00 20S jay 98 P iall (3,40 g5 LS
e pad) amiey P LaS A @S anis sSug 2UAS Lais sSs wopall £l Gl 13 T ALSI) ey
35,40 50S Jlane s%s 71 Wslael) dlari dmiSy cawis olEY) 3 olde o romileie D

p = mv.

sy pagie 50y alsl] 35,01 28 e Lajarat) delad 25,41 200 wols 35,41 200 ) L LS
S g W aallsll :'l..la-_g uuﬂ.ﬁ tJJ'A kg l‘l'h"S l:?'h ij_‘,J-I 43-_1-«5I l;il..'l.a-_g E:'FJ-’A" u'fJ_’..\Jl e 10 :'l..'la-_g." l._;
alid ] alus 30 25,41 claSy S gllas le a5,4) &S jlune aic .3S,0) S Gasg) gols pl



dgallg HJJ-I Ao
e Jsasl falua)) 3 ufaJl £l sacls s 71 dslagl ooyl anidis causd
d ( —*)_ dU‘ dm—r
dacP dt

o3l dniiie 0¥ 13y Mo 0sSs GBI ad) o8 B ey edD ¥ pead] LS of Gy T
o sSs calaal) L dgeall de ol

d = dv -
Ep=ma=mﬂ=F,
@Mally Sl Ben psela) Lty
(7.2) F=d53
dr P
i@..J:uLﬂ.nli_u;-F mﬂu.ad.n.qg.ﬂ‘.‘,..ji d.h.unJlI a..L.h_g Uaulwg.uuyu aslsl) d.i.u.nﬂu_a
a..\;-_:,”i_s,[i;hn.” 45_,:- ﬂ_..u'J.‘l..Ln.l‘.Lg.ﬂ.quLnJ1 lis u_,s.‘_..u u.q_,” HdJ..ﬂ.”_,.._-l.qu.u.r.

iyl a)) LS L Layl LgnlsS LaSc cageae alslae 7.2 alslal) oY 13l
_dpx. — ph‘. _dpz
Ee=a H=aq =g
as 3 ﬁLh.ﬂ_g HJJ-I Ao
M aliSly V e ol K aS,4) a3Ual) e (5.1 aslal)) K= Smv? 2l Lt i5a.,_~..,J1

k= m’ _m® _ 13-'2
2 2m  2m’

2

_P
(73) =

-

Gaaalalll oly sgae

8 jaalall L4330 3 5




2 e d.JJJ@ sle 72.0 mph ac s ¢ s 1200 kg LgalsS 5L 7.25

=

r_’lJ:-.'Ll-g.nHEJ1J.n.EJ.|51Lﬂ.|.L.5 _;E-‘L"“LPIlJ-"-?Il"‘-"J-'-'-ﬂ d..—.nLJnJLn_.oua;-.u

B ybead) de o 273 ) e de

oda i5,> axS ) uale ¥l sadate anal ) 5 ko) A5, AneS i Lo (@

aS,A) asld) )

LER N

a2 ¥l saaaze acaldl 8 leall &5,4) Al acw L (a

%8 L) iyl

_

Araalalll ol sg20

8 jaalall LuA3 3S p0




Apply the conservation laws of momentum and total kinetic energy for elastic :
collisions in one dimension for the special case of equal masses and show that the &
two objects simply exchange their momenta and velocities where: Student Book 197 —\
Fy (1) =P {(2.x) / Fr 2o F i and Yran = Yigs / Yren = Vinx Bl ki 35,0
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Elastic Collisions in One Dimension
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Apply the conservation of linear momenta for an isolated system of particles to relate MCQ. 7.3/7.4 215 ™
12 L . . . mb
the initial momenta of the particles to their final momenta at any later instant. MCQ. 7.10 216 T
13 | Identify that collisions can be either elastic, partially inelastic or totally inelastic MCQ. 7.11/7.12 216 e
8 jaalall L1450 55 0
. . . : . MCQ. 7.10 216
14 | Solve problems related to elastic collisions in one dimension. 0./7.38/7.51 218/219
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'< Calculate the change in momentum (due to change in velocity) as the difference
between the final and initial momenta.(AP=P; — F,)=mi; — mi;=m(ij; — ;).

9 Apply the relationship ] =AP = E,,,At between impulse, change in momentum,
average force, and the time interval over which the impulse acts on the object.

Q.(7.30/a,b,c)
Q.(7.84/7.85/7.86)
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